

$$\textcircled{1} \quad a) \frac{79-3}{x} + \frac{3}{x} = \frac{79-3+3}{x} = \frac{79}{x} \quad b) \frac{1 \cdot x^4}{x \cdot 4} = \frac{x}{4}$$

$$\textcircled{2} \quad a) \frac{c^{16}}{c^{-2}} = c^{16-(-2)} = c^{18} \quad b) (c^{-3})^4 = c^{4 \cdot (-3)} = c^{-12} = \frac{1}{c^{12}}$$

$$\textcircled{3} \quad y = \sqrt{x}$$

$$y = \sqrt{4} \Rightarrow y = 2$$

$$y = \sqrt{25} \Rightarrow y = 5$$

$$\textcircled{4} \quad a) \sqrt{\frac{49}{4}} + 5 \cdot \sqrt{\frac{36}{100}} = \frac{7}{2} + \frac{5 \cdot 6}{10} = \frac{7}{2} + \frac{6}{2} = \frac{13}{2} = 6,5$$

$$b) \sqrt{\frac{4 \cdot 5 \cdot 5}{100}} + (-1)^2 \cdot (\sqrt{2})^2 = 1 + 2 = 3$$

$$\textcircled{5} \quad - \frac{4 \cdot x^{-3} \cdot y^2 \cdot 27 \cdot x^{-2} \cdot y^{-3}}{8 \cdot 16} = - \frac{3}{4} \cdot x^{(-3-2)} \cdot y^{(2-3)} = - \frac{3}{4} x^{-5} \cdot y^{-1} = - \frac{3y}{4x^5} = - \frac{3}{4} \cdot \left(\frac{y}{x}\right)^5$$

$$\textcircled{6} \quad a) \quad 2x^2 - 5x - 18 = 0$$

$$\Delta = 25 + 4 \cdot 2 \cdot 18 = 169 = 13^2$$

$$x_1 = \frac{5-13}{4} = -\frac{8}{4} = -2$$

$$x_2 = \frac{5+13}{4} = \frac{18}{4} = 4,5$$

$$b) \quad \frac{x^2 - 5x + 6}{x-2} = 0 \quad \text{ODZ: } x-2 \neq 0$$

$$x^2 - 5x + 6 = 0 \quad x \neq 2$$

no Buena

$$x_1 = 3 \quad x_2 = 2$$

Ombem: $x = 3$

$$\textcircled{7} \quad \frac{2c}{c+3} - \frac{c-3 \cdot 36^{18}}{2(c+3) \cdot c(c-3)} = \frac{2c}{c+3} - \frac{18}{c(c+3)} = \frac{2c^2 - 18}{c(c+3)} = \frac{2(c^2 - 9)}{c(c+3)} =$$

$$= \frac{2(c-3)(c+3)}{c(c+3)} = 2c - 6$$